107!

1072

=
<

a(o @) (rad)
a(d cot(d))

102

.............

Ratio
N

R I o LL ”Mh Tlr T

-3 -2 -1 0 1 2 3 -3 -2 -1 0 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—s— DQM_V0001_R000000001__Global__cmsswQCD__RECO

—— DQM_V0001_R000000001__Global__mkFitOriginalQCD__RECO
—— DQM_V0001_R000000001__Global__mkFitNewQCD__RECO

= £ : :
5 s ST OU B S S
* o> : Z
3 S AT R 2
= © ' : ;
> Sl i
SR i
1 (14| B2k
o A
Lo S1IRIT1E S |
5 AR
01072 o10;_2....i....|....|....|....i....
s . F 8 ] :
[ SAERPPPRPRRR | B2 ¢ A 1111 O ¢ RN @ r ;
- | S S i 111 S S
| I Foeees -Hg (R - - R 1-- - - Feeenes 0'=: : 4 (T4 f | :
-3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA- to beamline) TP n (PCA- to beamline)

o p/p.)

,_.
<
L

e . e

T
b LA
-3 -2 -1 0 1 2 3
TP n (PCA to beamline)

Ratio
w




	Contents
	Page 1


